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¹þãq ß h½»þ '¡' tçÞ Ày ¡âmviåÙàÊã ZàÎÂà ÑèA, âkÂÑçÞ Ñv §ýÊÂàà ¡âÂàwàuê Ñè ñ h½»þ 'r' tçÞ
viåÙàÊã ZàÎÂà mnà h½»þ 'y' tçÞ Àãiê £ÙàÊãu ZàÎÂà ÑèÞ ñ h½»þ '¡' §ýàç yryç qÑvç

Ñv §ýÊçÞ ñ
Note : Section 'A' comprising of 10 very short answer type  question, is

compulsory. Section 'B' consists of short answer type questions and

Section 'C' consists of long answer type questions. Section 'A' has

to be solved first.

h½»þ-'¡'h½»þ-'¡'h½»þ-'¡'h½»þ-'¡'h½»þ-'¡'(Section-'A')

âÂàÈÂàà Þâ§ým ¡âm viä£ÙàÊãu ZàÎÂàà ç Þ §çý £ÙàÊ ¥§ý uà Ààç wà¨uàç Þ tç ÞâÂàÈÂàà Þâ§ým ¡âm viä£ÙàÊãu ZàÎÂàà ç Þ §çý £ÙàÊ ¥§ý uà Ààç wà¨uàç Þ tç ÞâÂàÈÂàà Þâ§ým ¡âm viä£ÙàÊãu ZàÎÂàà ç Þ §çý £ÙàÊ ¥§ý uà Ààç wà¨uàç Þ tç ÞâÂàÈÂàà Þâ§ým ¡âm viä£ÙàÊãu ZàÎÂàà ç Þ §çý £ÙàÊ ¥§ý uà Ààç wà¨uàç Þ tç ÞâÂàÈÂàà Þâ§ým ¡âm viä£ÙàÊãu ZàÎÂàà ç Þ §çý £ÙàÊ ¥§ý uà Ààç wà¨uàç Þ tç Þ

À ç Þ  ñÀ ç Þ  ñÀ ç Þ  ñÀ ç Þ  ñÀ ç Þ  ñ          (((((Answer the following very short-answer-type

questions in one or two sentences)))))    (1   (1   (1   (1   (1x10=10)10=10)10=10)10=10)10=10)
ZàÎÂà-1. Zànt ¡àèùàçâªà§ý Âàãâm §ýr vàªàå §ýL ªà¢ê ?

When was the first industrial policy implemented?

ZàÎÂà-2. ràkàÊ ¡nêÍuwÐnà §çý âw§ýày §çý Ààç i¹þ§ýàçÞ §çý Âààt âvâh¥ ñ
Write names of two factors affecting development of market

economy.

ZàÎÂà-3. §æýâx §ýL £¾qàÀ§ýmà yç ¨uà mà¾quê Ñè?
What do you mean by Agricultural productivity?

ZàÎÂà-4. MRTP yç ¨uà ¡àÎàu Ñè?
What is meant by MRTP?
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OR

sàÊmãu ¡nêÍuwÐnà tçÞ §æýâx §çý tÑÙw §ýL Íuà©uà §ýLâk¥ ñ sàÊmãu §æýâx §çý
âq²þð»çþqÂà §ýàç ÀåÊ §ýÊÂàç §çý âv¥ ¡àq ¨uà yälàw ÀçªàçÞ?
Explain the importance of agriculture in Indian Economy. What

suggestions will you give to remove the backwardness of Indian

Agriculture.

ZàÎÂà-4. sàÊm tçÞ yàwêkâÂà§ý £q§íýt §ýL wmêtàÂà OÐnâm mnà sàÊmãu ¡nêÍuwÐnà tçÞ
¢Âà§çý uàçªàÀàÂà qÊ Zà§ýàÎà »þàâv¥ ñ
Throw light on the current scenario of public enterprises and their

contribution to the development of Indian Economy.

OR

1991 §ýL ¡àèùàçâªà§ý Âàãâm §ýL ytãÕàà §ýLâk¥ ñ
Analyse the Industrial policy of 1991.

ZàÎÂà-5. sàÊm tçÞ rçÊàçkªààÊã §ýL ytÐuà ¥wÞ ytàoàÂà qÊ ¥§ý vçh âvâh¥ ñ
Write an essay on problems and solutions of unemployment in

India.

OR

sàÊm §ýL ÂàwãÂà ¡àuàm-âÂàuàêm Âàãâm §ýL ¡àvàçjÂàà¾t§ý qÊãÕà½à §ýLâk¥ ñ
Critically examine the new export-import policy of India.

----x----
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ZàÎÂà-5. 'ÃvàÂ»þ ¢§ýàçÂààtã ÄýàÊ ¢O½»þuà' â§ýyÂàç âvhã ?
Who is the author of  'Planned Economy for India'?

ZàÎÂà-6. yÞÊÕà½à Âàãâm yç ¡àq ¨uà ytlmç Ñè?
What do you mean by protection policy?

ZàÎÂà-7. sàÊm tçÞ ÑáÊm §íýàÞâm §ýL ÎàäÚ¡àm §ýr ÑB¢ê?
When did 'Green Revaluation' begin in India?

ZàÎÂà-8. âõmãu qÞjwxJu uàçkÂàà §ýà ZààÛýq â§ýyÂàç rÂààuà?
Who prepared the draft of second five year plan?

ZàÎÂà-9. Âàãâk§ýÊ½à yç ¨uà ¡àÎàu Ñè?
What is meant by privatization?

ZàÎÂà-10.rçÊàçkªààÊã §çý Ààç §ýàÊ½à âvâh¥ ñ
Write two causes of unemployment.

h½»þ-'r'h½»þ-'r'h½»þ-'r'h½»þ-'r'h½»þ-'r'(Section-'B')

âÂ àÈÂà à Þ â§ým viä £ÙàÊãu ZàÎÂàà ç Þ  § ç ý  £ÙàÊ 150-200âÂàÈÂà à Þ â§ým viä £ÙàÊãu ZàÎÂàà ç Þ  § ç ý  £ÙàÊ 150-200âÂàÈÂà à Þ â§ým viä £ÙàÊãu ZàÎÂàà ç Þ  § ç ý  £ÙàÊ 150-200âÂàÈÂà à Þ â§ým viä £ÙàÊãu ZàÎÂàà ç Þ  § ç ý  £ÙàÊ 150-200âÂàÈÂà à Þ â§ým viä £ÙàÊãu ZàÎÂàà ç Þ  § ç ý  £ÙàÊ 150-200

ÎàÆÀÎàÆÀÎàÆÀÎàÆÀÎàÆÀ-yãtà tçÞ ÀçÞ ñyãtà tçÞ ÀçÞ ñyãtà tçÞ ÀçÞ ñyãtà tçÞ ÀçÞ ñyãtà tçÞ ÀçÞ ñ     (((((Answer the following short-answer type

questions with word limit 150-200)                   (5)                   (5)                   (5)                   (5)                   (5x5=25)5=25)5=25)5=25)5=25)

ZàÎÂà-1. ràkàÊ ¡nêÍuwÐnà §çý âw§ýày §çý §ýàÊ½à rmà¢¥ ñ
Give the causes for growth of market economy.

OR

§çýÂôãu rèA§ý §çý qàÝj §ýàuê âvâh¥ ñ
Write the five functions of Central Bank.

ZàÎÂà-2. Êçv qáÊwÑÂà §ýà ¡àânê§ý tÑ¾w ytlà¢¥ ñ
Explain the economic significance of rail transport.

OR

ÎàÑÊã§ýÊ½à §çý ÀäÏZàsàw rmà¢¥ ñ
Give the consequences of urbanization.

ZàÎÂà-3. sàÊm tçÞ §æýâx yàh §çý dààçm rmà¢¥ ñ
Explain the sources of agriculture credit in India.

OR

£ÀàÊã§ýÊ½à ¨uà Ñè?
What is meant by Liberalization?

ZàÎÂà-4. viä £ùàçªààçÞ §ýL ytÐuà¥Ý rmà¢¥ ñ
Give the problems of small scale industries.

OR

'ÄçýÊà' ¥wÞ 'Äçýtà' §ýàç âwÐmàÊ yç ytlà¢¥ ñ
Explain in detail 'FERA' and 'FEMA'

ZàÎÂà-5. ¡àu §ýL ¡ytàÂàmà §çý §ýàÊ½à rmà¢¥ñ
Write the factors responsible for income inequality.

OR

tåÌuàçÞ tçÞ OÐnÊmà vàÂàç §çý âv¥ yälàw Àãâk¥ ñ
Give suggestions for achieving stability in prices.

h½»þ-'y'h½»þ-'y'h½»þ-'y'h½»þ-'y'h½»þ-'y'(Section-'C')

âÂ àÈÂà à Þ â§ým Àãi ê £ÙàÊãu ZàÎÂàà ç Þ  § ç ý  £ÙàÊ 300-350âÂàÈÂà à Þ â§ým Àãi ê £ÙàÊãu ZàÎÂàà ç Þ  § ç ý  £ÙàÊ 300-350âÂàÈÂà à Þ â§ým Àãi ê £ÙàÊãu ZàÎÂàà ç Þ  § ç ý  £ÙàÊ 300-350âÂàÈÂà à Þ â§ým Àãi ê £ÙàÊãu ZàÎÂàà ç Þ  § ç ý  £ÙàÊ 300-350âÂàÈÂà à Þ â§ým Àãi ê £ÙàÊãu ZàÎÂàà ç Þ  § ç ý  £ÙàÊ 300-350

ÎàÆÀÎàÆÀÎàÆÀÎàÆÀÎàÆÀ-yãtà tçÞ ÀçÞ ñyãtà tçÞ ÀçÞ ñyãtà tçÞ ÀçÞ ñyãtà tçÞ ÀçÞ ñyãtà tçÞ ÀçÞ ñ     (((((Answer the following long-answer type

questions with word limit 300-350)))))                          (8(8(8(8(8x5=40)5=40)5=40)5=40)5=40)
ZàÎÂà-1. sàÊm tçÞ §æýâx §çý wàâ½à³uã§ýÊ½à §çý Zàtäh §ýàÊ½ààçÞ ¥wÞ ZàsàwàçÞ §ýL Íuà©uà

§ýLâk¥ ñ
Describe the main causes and effects of commercialization of

agriculture in India.

OR

'ÐwmÞØàmà ZààâÃm §çý ytu sàÊmãu ¡nêÍuwÐnà' âwxu qÊ ¥§ý âÂàrÞo âvâh¥ ñ
Write an essay on 'Indian economy at the time of Independence'.

ZàÎÂà-2. sàÊmãu ¡nêÍuwÐnà §ýL Zàtäh kÂààÞâ§ý§ýLu âwÎàçxmà¡àçÞ §ýà w½àêÂà §ýLâk¥ ñ
Explain the main Demographic features in Indian Economy.

OR

Êà˜ìþãu ¡àu §ýL qáÊsàxà Àãâk¥ ñ Êà˜ìþãu ¡àu §ýL ªà½àÂàà §ýL âwâouàçÞ §ýL Íuà©uà
§ýLâk¥ ñ
Define National Income. Explain the methods of estimation of

National Income.

ZàÎÂà-3. sàÊm tçÞ âÂàuàçkÂà §ýL £qvOÆouàÝ ¥wÞ ¡yÄývmà¡àçÞ §ýL âwwçjÂàà §ýLâk¥ ñ
Discuss the achievements and failures of  Planning in India.


